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Writing Linear Equations Date:

Write the slope-intercept form of the equation of the line through the given points.

1) Through: (- 2,— 2),(2,— 5) 2) Through:(5,5),(2,— 4)
3)Through(5’9),(7’_3) ................................................. 4)Through(5’4)’(_4’3) ................................................
S)Through(_l,g)’(z,_ﬂ .............................................. 6)Through(2’_6)’(_1,3) ..............................................
7)Through(74,72)’(i3,5) ......................................... S)Through(lj_z),(zﬂ) ..................................................

....................................................................................................................................................................................

9) Through:(— 3,9),(5,~ 7) £ 10) Through: (— 1,4),(0,4)

....................................................................................................................................................................................
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1)

Through: (- 2,— 2),(2,— 5)

- 2)

Through:(5,5),(2,— 4)
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3)

Through:(5,9), (7,— 3)

y=—6x + 39
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5)

Through:(— 1,8),(2,—7)

y=—5x+3

" "
.......................................................................................... L e e e e e e e e E e L C e e L E L EE LR C L EE LR EELER LT LT
H

7)

Through: (— 4,— 2),(— 3,5)

y=7x + 26

y=3x — 10

i 4) Through: (5,4), (- 4,3)

6) Through:(2,—6),(— 1,3)
y=—-3x

: 8) Through:(1,~2),(2,3)
y=5x —7
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t 10) Through: (— 1,4),(0,4)

9)

Through:(—3,9),(5,—7)

y=—2x+3

y=4

......................................................................................................................................................................................



